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    INSTRUCTIONS TO CANDIDATES

 1. The Question Paper will be given in the form of a Question Booklet. There will be four 
versions of Question Booklets with Question Booklet Alpha Code viz. A, B, C & D.

 2. The Question Booklet Alpha Code will be printed on the top left margin of the facing sheet 
of the Question Booklet. 

 3. The Question Booklet Alpha Code allotted to you will be noted in your seating position in 
the Examination Hall.

 4. If you get a Question Booklet where the alpha code does not match to the allotted Alpha 
Code in the seating position, please draw the attention of the Invigilator IMMEDIATELY.

 5. The Question Booklet Serial Number is printed on the top right margin of the facing sheet. If your 
Question Booklet is un-numbered, please get it replaced by new Question Booklet with same 
Alpha Code.

 6. The Question Booklet will be sealed at the middle of the right margin. Candidate should 
not open the Question Booklet, until the indication is given to start answering. 

 7. Immediately after the commencement of the examination, the  candidate should check that 
the Question Booklet supplied to him/her contains all the 100 questions in serial order. The 
Question Booklet does not have unprinted or torn or missing pages and if so he/she should 
bring it to the notice of the Invigilator and get it replaced by a complete booklet with same Alpha 
Code. This is most important.

 8. Question Serial No. 1 to 60 are printed both in English and in Official Language (Malayalam). 
Doubts regarding the meaning and translation of Question Serial No. 1 to 60 will be settled 
based on the Questions in English.

 9. Two blank pages are provided before the last page of this Question Paper for rough 
work.

 10. Please read carefully all the instructions on the reverse of the Answer Sheet before 
marking your answers.

 11. Each question is provided with four choices (A), (B), (C) and (D) having one correct answer. 
Choose the correct answer and darken the bubble corresponding to the question number 
using Blue or Black Ball Point Pen in the OMR Answer Sheet.

 12. Each correct answer carries 1 mark and for each wrong answer 1/3 mark will be 
deducted. No negative mark for unattended questions.

 13. No candidate will be allowed to leave the examination hall till the end of the session and 
without handing over his/her Answer Sheet to the Invigilator. Candidates should ensure 
that the Invigilator has verified all the entries in the Register Number Coding Sheet and 
that the Invigilator has affixed his/her signature in the space provided.

 14. Strict compliance of instructions is essential. Any malpractice or attempt to commit any 
kind of malpractice in the Examination will result in the disqualification of the candidate.
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 1. Important facts relating to Mahatma Gandhi and Civil disobedience movement.

 i. Gandhiji started civil disobedience movement from Dandy to Sabarmati Ashrama, 
Distance of 322 km.

 ii. Civil disobedience movement slowly declined and it was formally suspended in May 
1934.

 iii. Chittagong armory raid was conducting under the leadership of Surya Sen between 
the periods.

 iv. Gandhiji attended first Round Table Conference on November 12, 1930.

 A) Only i and ii are correct B) Only i and iii are correct

 C) Only iv is correct D) Only i, ii, iii are correct

 2. Relevant Facts about 1857 Revolt.

 i. Doctrine of Lapse-Annexed by the Right of Conquest, Satara, Jaipur, Sambalpur, 
Baghat, Udaipur, Jhansi and Nagpur.

 ii. British economic policies in India worked against the interests of Indian trade and 
industry. The East India Company used its political power to destroy Indian handicrafts 
and industry and developed it into an appendage of a foreign exploitative system.

 iii. The East India Company rule continued for a long time after the 1858 Act.

 iv. The Revolt of 1857 ended the era of territorial aggrandizement, gave place to the era 
of economic exploitation. The emotional after-effects of the Revolt were perhaps the 
most unfortunate. Racial bitterness was perhaps the worst legacy of the struggle.

 A) Only i and ii are correct B) Only i is correct and iv is incorrect

 C) Only i, ii, iv are correct D) Only i, ii, iii are correct

 3. Important facts relating to Marthanda Varma’s Battle of Colachel.

 i. The Battle of Colachel was the battle between the Dutch and Marthanda Varma.

 ii. The Dutch wanted to seize power in Anchikaymal (Ernakulam area) Martha 
Vadakkumkoor.

 iii. The Dutch received much-needed military assistance from Batavia.

 iv. On May 22, 1743, a comprehensive peace treaty was signed by Marthanda Varma 
and Commander Reneccasirsum at Mavelikkara.

 A) Only iii is correct B) Only ii and iii are correct

 C) Only i, ii, iii are correct D) Only i, ii, iv are correct
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 1. ozLÄLYLÌ]pOoLpOU j]ôzWqe NkòLjvOoLpOU mÌRÕŸ NkiLj vñOfW¥.

 i. YLÌ]^] h¼]p]¤ j]ÐV  322 W]SsLo}ã¡ hPqoOç ym¡of] Bèo¾]Ss¨V  
j]ôzWqe NkòLjU BqUn]\ÿO. 

 ii. j]ôzWqe NkòLjU kfOR¨ WOrpOWpOU 1934 RopV oLy¾]¤ AfV KTk\Lq]
WoLp] j]¡¾]vpV¨OWpOU R\pÅO.

 iii. CT WLsZŸ¾]¤ yPq| RyÐ]R£ SjfQf~¾]¤ \]ãSYLUYV BpOiÕOq RrpVcV  
jaÐ]qOÐO.

 iv. 1930 jvUm¡ 12 jV YLÌ]^] Bh|vŸSow ySÚtj¾]¤ kRËaO¾O.

 A) i DU ii DU oLNfoLeV wq] B)  i DU iii DU oLNfoLeV wq]

 C) iv oLNfoLeV wq] D)  i, ii, iii IÐ]v oLNfoLeV wq]

 2. 1857-Rs WsLkR¾¨Or]\ÿOç Nky©oLp vñOfW¥.

 i. hÍvWLw j]SqLij j]poU&k]a]\ÿa¨LjOç AvWLwvOoLp] y¾Lr, ^pVkP¡, 
yon¤kP¡, mLYfV, DhpVkP¡, _L¢y], jLYVkP¡ IÐ} òs°¥ mÌ]Õ]\ÿ]
q]¨OÐO.

 ii. CÍ|p]Rs Nm]Ÿ}xV yLÒ¾]W jp°¥ CÍ|¢ v|LkLq fL¤Õq|°¥ V̈ v]qOÈoLp] 
Nkv¡¾]\ÿO. CTðV CÍ|L WÒj] f°tORa qLNì}p Ai]WLqU DkSpLY]\ÿV CÍ|¢ 
WqWTws vñO¨RtpOU v|vyLp°RtpOU jw]Õ]¨OWpOU Af]Rj KqO v]Shw  
\Pxe v|vòpORa AjOmÌoLp] v]Wy]Õ]¨OWpOU R\pÅO.

 iii. 1858-Rs j]po¾]jO SwxvOU CTðV CÍ|L WÒj] nqeU vtRq¨LsU fOa¡ÐO.

 iv. 1857-Rs WsLkU NkLShw]Wv¤¨qe¾]R£ pOY¾]jV ArOf]vqO¾], yLÒ¾]W 
\Pxe¾]R£ pOY¾]jV CaU j¤W]. WsLk¾]R£ RRvWLq]W Nkf|LZLf°¥ 
KqO kSƒ JãvOU hT¡nLY|WqoLp]qOÐO. vUw}p v]Sh~xU KqO kSƒ yoq¾]R£ 
JãvOU SoLwoLp RRkfQWoLp]qOÐO.

 A) i DU ii DU oLNfoLeV wq] B) i oLNfU wq]pOU iv RfãOoLeV

 C) i, ii, iv oLNfoLeV wq] D) i, ii, iii IÐ]v oLNfU wq]pLeV

 3. oL¡¾L¼v¡ÚpORa RWLt\ÿ¤ pOÈvOoLp] mÌRÕŸ NkiLj vñOfW¥.

 i. c\ÿOWLqOU oL¡¾L¼v¡ÚpOU fÚ]sOç pOÈoLp]qOÐO RWLt\ÿ¤ pOÈU.

 ii. Aµ]¨pVo¤ (IreLWOtU NkShwU) oL¡¾ va¨OUWPq]¤ Ai]WLqU  
k]a]R\ÿaO¨L¢ c\ÿOWL¡ BNYz]\ÿO.

 iii. mãLv]pp]¤ j]ÐV c\ÿOWL¡¨V Bvw|oLp RRyj]W yzLpU sn]\ÿO. 

 iv. 1743 RopV 22 jV oLSvs]¨qp]¤ Rv\ÿV oL¡¾L¼v¡ÚpOU WoL¢c¡ 
RrSjL¨Ly]¡yOU S\¡ÐV yoNYoLp KqO yoLiLj DaÒa] KÕOv\ÿO.

 A) iii oLNfoLeV wq] B) ii, iii IÐ]v oLNfoLeV wq]

 C) i, ii, iii IÐ]v oLNfoLeV wq] D) i, ii, iv IÐ]v oLNfoLeV wq]
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 4. Important facts relating to United Kerala.

 i. A Reforms Committee has been constituted for the development of constituencies 
with the participation of representatives of the State Congress.

 ii. The rule of Dalawa and Diwan continued upto 1959.

 iii. During the tenure of T. K. Narayana Pillai, the Government of India decided to unite 
the princely states to form a United Kerala.

 iv. The State of Kerala came into existence after the Government of India approved the 
recommendation of the State Redistribution Commission.

 A) Only i, iii, iv are correct B) Only i and ii are correct 

 C) Only iii is correct D) Only ii is correct 

 5. The wrong statement relating to formation of United Nations Organization.

 i. The draft charted was then discussed, modified, improved and finally signed by 
representatives of fifty states at the San Francisco Conference in April-June 1945.

 ii. Under Article 24, members confer on the Security Council primary responsibility for 
the maintenance of international peace and security.

 iii. The Norwegian Foreign Minister Trygvelie was elected as First Secretary General.

 iv. The United Nations non permanent members also enjoyed veto power.

 A) Only i, ii, iii are correct

 B)  Only iv is correct

 C) Only i and ii are correct

 D) Only i and iii are correct

 6. Important facts connected with Azadi Ka Amrit Mahotsav.

 i. Azadi Ka Amrit Mahotsav is an initiative of the Government of India to celebrate and 
commemorate 75 years of Independence.

 ii. Azadi Ka Amrit Mahotsav commenced 15th August 2022 which started a 50 week 
countdown to our 75th Anniversary of Independence and will end post a year on  
15th August 2023.

 iii. It helps bring alive stories of unsung heroes whose sacrifices have made freedom a 
reality for us.

 iv. Programs under this theme include Birsa Munda Jayanti, declaration of provisional 
Government of Free India by Nethaji, Shaheed Diwas etc.

 A) Only i and ii are correct B) Only i, iii, iv are correct

 C) Only i, iii are correct D) Only ii is correct 
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 4. RIW|SWqtvOoLp] mÌRÕŸ NkiLj vñOfW¥.

 i. j]SpL^W o¼s°tORa v]Wyj¾]jLp] yUòLj SWL¦NYyV Nkf]j]i]WRt 
D¥RÕaO¾] kq]ëqe yo]f] qPk}Wq]\ÿO.

 ii. htvpORapOU h]vLR£pOU nqeU 1959 vRq fOa¡ÐO.

 iii. a]. RW. jLqLpe k]çpORa nqeWLs¾V jLŸOqL^|°Rt yUSpL^]Õ]\ÿV RIW|SWqtU 
qPk}Wq]¨L¢ CÍ|L Yv¦Ro£V f}qOoLj]\ÿO.

 iv. yUòLj kOj¡v]fqe WÚ}xR£ wOkL¡w CÍ|L Yv¦Ro£V AUY}Wq]\ÿf]Rj 
fOa¡ÐLeV SWqt yUòLjU j]sv]¤ vÐfV.

 A) i, iii, iv IÐ]v oLNfoLeV wq] B) i DU ii DU oLNfoLeV wq]  

 C) iii oLNfU wq]pLeV D) ii oLNfU wq]pLeV 

 5.  RIW|qLNìyUZajpORa qPk}WqevOoLp] mÌRÕŸ RfãLp NkñLvj.

 i. \L¡ŸV R\pÅ WqaV k]Ð}aV \¡\ÿ R\áOWpOU kq]xV¨q]¨OWpOU Ro\ÿRÕaO¾OWpOU 
KaOv]¤ 1945 JNk]¤&^P¦ oLy°t]¤ yL¢NlL¢y]yVSWL SWL¦lr¢y]¤ AÒfV 
yUòLj°tORa Nkf]j]i]W¥ KÕ]aOWpOU R\pÅO.

 ii. B¡Ÿ]¨]¥ 24 NkWLqU, AUY°¥ AÍLqLNì yoLiLjvOU yOqƒpOU j]sj]¡¾OÐf]
jOç NkLgo]W D¾qvLh]¾U yOqƒL WT¦y]s]jV j¤WOÐO. 

 iii. SjL¡v}^]p¢ v]ShwWLq| oNÍ] RRNaRY~s]¨V lðV RyNWŸr] ^jrsLp]  
f]qR´aO¨RÕŸO.

 iv. RIW|qLNìynpORa ò]qLUYosæL¾ AUY°¥¨OU v}SãL Ai]WLqU DºLp]qOÐO.

 A) i, ii, iii  oLNfU wq]pLeV B)  iv oLNfoLeV wq]

 C) i DU ii DU oLNfU wq]pLeV D) i DU iii DU oLNfoLeV wq]

 6. ByLh]WL AoQfV oSzLÃvvOoLp] mÌRÕŸ NkiLj vñOfW¥.

 i. ByLh]WL AoQfV oSzLÃvU, y~LfNÍ|¾]R£ 75-LU vL¡x]WU BSZLx]¨O 
Ðf]jOU yÜq]¨OÐf]jOoLp] CÍ|L Yv¦Ro£]R£ KqO yUqUnoLeV. 

 ii. ByLh]WL AoQfV oSzLÃvU 2022 KLYðV 15-jV BqUn]\ÿO. AfV jÚORa 75-LU  
y~LfNÍ|vL¡x]W¾]jLpOç 50 BuV\WtORa WTºVcT¦ BqUn]\ÿV KqO  
v¡x¾]jOSwxU 2023 KLYðV 15-jV AvyLj]¨OW.  

 iii. y~LfNÍ|U joO¨V pLgL¡À|oL¨]p f|LY°¥ kLaL¾ jLpWÓLqORa ^}vjOç 
WgW¥ RWLºOvqL¢ CfV yzLp]¨OÐO. 

 iv. m]¡y oOº ^pÍ], SjfL^]pORa fLfVWLs]W y~fNÍ| CÍ|pORa NkX|LkjU,  
xz}hV h]vLyV fOa°]pv CT v]xp¾]jV W}u]sOç kq]kLa]Wt]¤ D¥RÕaOÐO.

 A) i DU ii DU oLNfU wq]pLeV B) i, iii, iv IÐ]v oLNfU wq]pLeV

 C) i DU iii DU oLNfU wq]pLeV D) ii oLNfU wq]pLeV 
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 7.  In which season the phenomenon of ‘Monsoon trough’ an elongated pressure trough 
across Ganga basin upto the head of Bay of Bengal occur ? 

 A) Cold Weather Season  B) Hot Weather Season

 C) South West Monsoon Season D) North East Monsoon Season

 8. Inner most zone of interior of the earth extends from 2800 km depth to the nucleus 
of the core is termed as

 A) Barysphere   B) Pyrosphere

 C) Weichert – Guttenberg Zone D) Mesosphere

 9. Resources which are found in a region but haven’t been utilized and aren’t developed 
properly

 A) Stock   B) Reserve

 C) Potential Resource   D) None of the above

 10. India’s first Earth Observation Satellite which is to be placed in a geosynchronous 
transfer orbit by GSLV-F 10

 A) EOS-04   B) GISAT-1

 C) RISAT-2B   D) CARTOSAT-2A

 11. Largest ethnic group concentrated in Niger and Northwestern Nigeria
 A) Maasai   B) Hausa 
 C) Bindibu   D) Tuaregs

 12. Central Tuber Crops Research Institute situated in

 A) Karamana   B) Pampdumpara

 C) Peechi   D) Sreekaryam

 13. The main objective of WTO is 

 A) To establish a trade platform for goods and services among the nations

 B) To establish international competitive market platform for goods and services

 C) To establish a rule based trade regime to ensure optimum utilisation of world 
resources

 D) To establish co-operative regime among the nations for the trade of surplus 
resources
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 7. YUYL fa¾]jV WOrORW mUYL¥ D¥¨as]R£ fsvRq j}ºO W]a¨OÐ o¡ÇU "o¦yP¦ 
SNaLlV ' IÐ Nkf]nLyU JfV y}ye]sLeV yUnv]¨OÐfV ? 

 A) feO¾ WLsLvò   B) \PaOç WLsLvò

 C) Rf¨O ka]´Lr¢ o¦yP¡ WLsU D) va¨V W]u¨¢ o¦yP¦ WLsU

 8. 2800 W]SsLo}ã¡ BuU oOf¤ WLÒ]R£ j|PWæ]pyV vRq v|Lk]\ÿO W]a¨OÐ nPo]pORa 
JãvOU D¥nLYR¾ _______ IÐV v]t]¨OÐO.

 A)  mLq]yVl]p¡   B)  RRkSrLyVl]p¡

 C)  RvpVR\¡ŸV&YOŸ¢m¡YV SyL¦ D)  RoSyLyVl]p¡

 9. KqO NkShw¾V WLeRÕaOÐfOU IÐL¤ DkSpLYRÕaO¾L¾fOU wq]pLp] v]Wy]
Õ]\ÿ]Ÿ]sæL¾fOoLp v]nv°¥

 A)  yUnqeU   B)  WqOf¤

 C)  yLi|fpOç v]nvU   D)  oOWt]¤ RWLaO¾]q]¨OÐv KÐOosæ

 10. GSLV-F 10 ^]SpLy]¢SNWLeyV NaL¢yVl¡ KL¡m]ã]¤ òLk]¨OÐ CÍ|pORa 
Bh|R¾ nTo j]q}ƒe DkNYzU.

 A) EOS-04   B) GISAT-1

 C) RISAT-2B   D) CARTOSAT-2A

 11. RRj^r]sOU va¨O ka]´Lr¢ RRj^}q]pp]sOU SWNÎ}Wq]\ÿ]q]¨OÐ JãvOU vs]p 
vUw}p v]nLYU.

 A) oLyLp]   B) zTy 

 C) m]Î]mO   D) a|PRrYVyV

 12. SWNÎ W]u°Ov]t YSvxe òLkjU ò]f] R\áOÐfV.

 A) Wqoj   B) kLÒLaOUkLr

 C) k}\ÿ]   D) è}WLq|U

 13. WTO pORa NkiLj sƒ|U. 

 A) qL^|°¥¨]ap]¤ \q¨OW¥¨OU Syvj°¥¨OoLp] KqO v|LkLq Svh] 
òLk]¨OW.

 B) \q¨OW¥¨OU Syvj°¥¨OoLp] AÍLqLNì oÃq v]ke] kæLãVSlLU òLk]¨OW.

 C) SsLW v]nv°tORa KkVã]o¤ v]j]SpLYU DrÕL¨L¢ KqO j]poLi]xVb]f v|LkLq 
v|vò òLk]¨OW.

 D) o]\ÿ v]nv°tORa v|LkLq¾]jLp] qLNì°¥¨]ap]¤ yzWqe nqeU 
òLk]¨OW.
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 14. GSTN stands for

 A) Goods and Services Tax Network 

 B) Goods and Services Trade Network

 C) Goods’ Source Tax Network 

 D) Goods and Services Transport Network

 15. According to the difference between NITI Aayog and Planning Commission, which 
of the following statement is/are correct ?

 i. NITI Aayog has no such power to impose policies on state. It is an advisory body.

 ii. The Planning Commission previously had the power to impose state policies. The 
projects approved by the Planning Commission. 

 A) Only i is correct 

 B) Only ii is correct

 C) Both i and ii are correct 

 D) Both i and ii are partly correct

 16. Among the following which tax is being subsumed at central level ?

 A) Service tax   B) Purchase tax 

 C) Luxury tax   D) Tax on lottery

 17. The State in which the first Food Museum of the country recently inaugurated by the 
Hon’ble Minister Shri Piyush Goyal is

 A) Tamil Nadu   B) Andhra Pradesh 

 C) Gujarat    D) Punjab

 18. Among the following which of the Constitutional Amendment is related to GST ?

 A) 104   B) 103 

 C) 102   D) 101

 19. The words Socialist and Secular was added to the Preamble of the Indian Constitution 
through the

 i. 44th Amendment

 ii. 42nd Amendment

 iii. 39th Amendment

 iv. 5th Amendment
 A) i B) ii C) iii D) iv
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 14. GSTN IÐf]R£ A¡ÀU.

 A) Goods and Services Tax Network 

 B) Goods and Services Trade Network

 C) Goods’ Source Tax Network 

 D) Goods and Services Transport Network

 15. j}f] BSpLYOU, ByPNfe WÚ}xjOU fÚ]sOç v|f|LyU AjOyq]\ÿV fLRu 
ÕrpOÐvp]¤ JfV NkñLvj/W¥ BeV wq] ?

 i. yUòLj¾V jp°¥ Aa]S\ÿ¤Õ]¨L¢ j}f] BSpLY]jV Ai]WLqo]sæ ARfLqO  
DkShwW yo]f]pLeV. 

 ii. yUòLj jp°¥ Aa]S\ÿ¤Õ]¨L¢ ByPNfe WÚ}xjV oOÒV Ai]WLqoOºLp]
qOÐO. kÈf]W¥ AUY}Wq]¨OÐfV ByPNfe WÚ}xjLeV.  

 A) i oLNfoLeV wq] 

 B) ii oLNfoLeV wq]

 C) qºOU (i DU ii DU) wq]pLeV 

 D) qºOU (i DU ii DU) nLY]WoLp] wq]pLeV

 16. fLRuÕrpOÐvp]¤ JfV j]WOf]pLeV SWNÎ fs¾]¤ D¥RÕaO¾OÐfV ?

 A) y¡vÿ}yV aLWõV   B) vL°¤ j]WOf] 

 C) sƒ~r] aLWõV   D) SsLŸr]pORa j]WOf]

 17. mzOoLjRÕŸ oNÍ] è}. k]pPxV SYLp¤ CTp]Ra DhVZLajU R\pÅ qL^|R¾ Bh|R¾ 
nƒ| o|Py]pU JfV yUòLj¾LeV ?

 A) fo]uVjLaV   B) BNÌLNkShwV 

 C) YO^rL¾V    D) kµLmV

 18. fLRuÕrpOÐvp]¤ JfV nqeZajL SnhYf]pLeV GST pOoLp] mÌRÕŸ]q]¨OÐfV ?

 A) 104 B) 103 C) 102 D) 101

 19. SyLx|s]ðV, RyW|Os¡ IÐ} vL¨OW¥ CÍ|¢ nqeZajpORa BoOX¾]¤ S\¡¾fV 
_______ vu]pLeV.

 i. 44-LU SnhYf]

 ii. 42-LU SnhYf]

 iii. 39-LU SnhYf]

 iv. 5-LU SnhYf]

 A) i B) ii C) iii D) iv
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 20. The President can promulgate an ordinance

 i. When both Houses are not in Session.

 ii. When only one House is in Session.

 iii. Only when there is a National Emergency.

 iv. At any time.

 A) Only i and iii   B) Only i and ii 

 C) iii   D) iv

 21. The 103rd Constitutional Amendment of the Constitution of India

 i. Introduced 10% reservation for Economically weaker Section of society for Admission 
to Central Government run educational institution and private educational institutions 
(except for minority educational institutions) and for employment in Central 
Government Jobs.

 ii. Introduced 10% reservation for Economically weaker Section of society for Admission 
to Central Government run educational institution and private educational institutions 
including minority educational institutions and for employment in Central Government 
Jobs.

 iii. Introduced 12.5% reservation for Economically weaker Section of society for 
Admission to Central Government run educational institution and private educational 
institutions (except for minority educational institutions) and for employment in Central 
Government Job.

 iv. Introduced 12.5% reservation for Economically weaker Section of society for 
Admission to Central Government run educational institution and private educational 
institutions including minority educational institutions and for employment in Central 
Government Job.

 A) i B) ii C) iii D) iv

 22. Art. 19(1)(a) of the Indian Constitution which guarantees Fundamental Right to 
Freedom of Speech and Expression can be restricted on the grounds of

 i. Defamation

 ii. Decency and Morality

 iii. Contempt of Court

 iv. Incitement to an Offence

 A) Only i B) Only ii

 C) iii and iv D) All of the above
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 20. qLNìkf]¨V KqO KL¡c]j¢yV NkX|Lk]¨LU 

 i. qºV ynWtOU Ryxj]¤ CsæL¾SÕL¥

 ii. KqO yn oLNfU Ryxj]¤ Bp]q]¨OSÒL¥

 iii. Shw}p Aa]pÍqLvò DºLWOSÒL¥

 iv. JfV yop¾OU

 A) i DU iii DU oLNfU   B) i DU ii DU oLNfU

 C) iii    D) iv 

 21. CÍ|¢ nqeZajpORa 103 nqeZajL SnhYf].

 i. SWNÎ y¡¨L¡ ja¾OÐ v]h|Ln|Ly òLkj°t]sOU (j|Pjkƒ v]h|Ln|Ly 
òLkj°¥ Ku]RW) y~WLq| v]h|Ln|Ly òLkj°t]sOU SWNÎ y¡¨L¡ S^Ls]Wt]¤ 
NkSvwj¾]jV yoPz¾]Rs yLÒ¾]WoLp] k]ÐL¨U j]¤¨OÐ v]nLY¾]jV 10% 
yUvqeU J¡RÕaO¾]. 

 ii. SWNÎ y¡¨L¡ ja¾OÐ v]h|Ln|Ly òLkj°t]sOU j|Pjkƒ v]h|Ln|Ly 
òLkj°¥ D¥RÕRapOç y~WLq| v]h|Ln|Ly òLkj°t]sOU NkSvwj¾]jOU 
SWNÎ y¡¨L¡ S^Ls]Wt]Rs RfLu]s]jOU yLÒ¾]WoLp] k]ÐL¨U j]¤¨OÐ 
yoPz¾]jV 10% yUvqeU J¡RÕaO¾].

 iii.  SWNÎ y¡¨L¡ ja¾OÐ v]h|Ln|Ly òLkj°t]sOU y~WLq| v]h|Ln|Ly òLkj 
°t]sOU (j|Pjkƒ v]h|Ln|Ly òLkj°¥ Ku]RW) NkSvwj¾]jOU SWNÎ y¡¨L¡ 
S^Ls]Wt]Rs RfLu]s]jOU yLÒ¾]WoLp] k]ÐL¨U j]¤¨OÐ yoPz¾]jV 12.5% 
yUvqeU J¡RÕaO¾].

 iv.  SWNÎ y¡¨L¡ ja¾OÐ v]h|Ln|Ly òLkj°t]sOU j|Pjkƒ v]h|Ln|Ly òLkj°¥ 
D¥RÕRapOç y~WLq| v]h|Ln|Ly òLkj°t]sOU NkSvwj¾]jOU SWNÎ y¡¨L¡ 
S^Ls]Wt]Rs RfLu]s]jOU yLÒ¾]WoLp] k]ÐL¨U j]¤¨OÐ yoPz¾]jV 12.5% 
yUvqeU J¡RÕaO¾].

 A) i B) ii C) iii D) iv

 22. CÍ|¢ nqeZajpORa B¡Ÿ]̈ ]¥19(1)(a) An]NkLp y~LfNÍ|¾]jOU NkWa]Õ]̈ s]jOU 
Dç oTs]WLvWLwU DrÕOj¤WOÐfV _______ IÐf]R£ Aa]òLj¾]¤ kq]o]
fRÕaO¾LvOÐfLeV.

 i. AkW}¡¾]RÕaO¾¤

 ii. oLj|fpOU iL¡Ú]WfpOU

 iii. SWLaf]psƒ|U

 iv. KqO WOãWQf|¾]jOç SNkqe

 A) i oLNfU B) ii oLNfU

 C) iii DU iv DU oLNfU D) oOWt]¤ j¤W]p]q]¨OÐvRpsæLU
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 23. A prerogative Writ calling upon a person to ‘show by what authority he or she holds 
or occupies a public office’ is 

 i. Writ of Mandamus

 ii. Writ of Quo Warranto

 iii. Writ of Certiorari

 iv. Writ of Prohibition

 A) i B) ii C) iii D) iv

 24. Which of the following statements are correct about the Comptroller and Auditor 
General of India ?

 i. Appointed by the President of India.
 ii. Shall be eligible for further office either under Government of India or Government 

of State after he has ceased to hold office.
 iii. Shall only be removed in like manner and on like grounds as a Judge of Supreme 

Court.
 iv. The salary of CAG is charged from Consolidated fund of State.
 A) Only i and ii B) Only i and iii
 C) Only i, ii and iv D) Only iii and iv

 25. How many Fundamental Duties are there under the Indian Constitution ?
 i. 10
 ii. 11
 iii. 8
 iv. 9
 A) i B) ii C) iii D) iv

 26. Equal Justice and Free Legal Aid is
 i. Guaranteed under the Fundamental Rights Chapter.
 ii. Recognised under the Chapter on Directive Principles of State Policy.
 iii. Is acknowledged under the Fundamental Duties.
 iv. Not recognized anywhere in the Indian Constitution.

 A) i B) ii C) iii D) iv

 27. Who is the 48th Chief Justice of India ?
 i. Justice N. V. Ramanna 
 ii. Justice A. M. Khanwilkar
 iii. Justice Uday Umesh Lalit
 iv. Justice Dr. D. Y. Chandrachud 
 A) i B) ii C) iii D) iv
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 23. KqO v|©]¨V, Av¢ ARsæË]¤ Av¥ KqO RkLfO KLl}yV RRWvwU v\ÿ]q]¨OÐSfL 
vz]¨OÐSfL IÍV Ai]WLq¾]sLReÐV WLe]¨L¢ Bvw|RÕaOÐ KqO NkSf|W 
r]ŸV BeV 

 i. oL¢coyV r]ŸV

 ii. SW~L vLrS£L r]ŸV 

 iii. Ry¡Ÿ]SpLrr] r]ŸV

 iv. j]SqLij r]ŸV

 A) i B) ii C) iii D) iv

 24. fLRuÕrpOÐ NkñLvjWt]¤ JfLeV CÍ|pORa W¦SNaLt¡ B¢cV KLc]ã¡  
^jrs]Rj WOr]\ÿV wq] ?

 i. CÍ|¢ qLNìkf]pL¤ j]po]¨RÕŸO.
 ii. ASÇzU Ai]WLqU j]sj]¡¾OÐfV AvyLj]Õ]\ÿf]jV SwxU CÍ|L Yv¦Ro£]

R£SpL yUòLj y¡¨Lq]R£SpL W}u]sOç fOa¡ÐOç KLl}y]jV SpLY|jLp]q]¨OU.
 iii. yONk}USWLaf] ^cV^] IÐ j]sp]¤ yoLjoLp q}f]p]sOU yoLjoLp WLqe 

°tLsOU oLNfSo j}¨U R\áRÕaOWpOçP.
 iv. CAG pORa wÒtU yUòLj¾]R£ JW}WQf lº]¤ j]ÐLeV CTaL¨OÐfV. 

 A) i DU ii DU oLNfU B) i DU iii DU oLNfU

 C) i DU ii DU iv DU oLNfU D) iii DU iv DU oLNfU

 25. CÍ|¢ nqeZajàV W}u]¤ INf oTs]W W¡¾v|°tOºV ?
 i. 10
 ii. 11
 iii. 8
 iv. 9
 A) i B) ii C) iii D) iv

 26. fOs|j}f]pOU yT^j| j]poyzLpvOU

 i. oTs]WLvWLw \LkVãr]jV W}u]¤ DrÕO j¤WOÐO.

 ii. yUòLj jp¾]R£ j]¡SÇw ff~°Rt¨Or]\ÿOç Ai|Lp¾]jV W}u]¤ AUY}Wq]\ÿO.

 iii. oTs]W W¡¾v|°¥ NkWLqU AUY}Wq]¨RÕŸ]q]¨OÐO.

 iv. CÍ|¢ nqeZajp]¤ Kq]a¾OU AUY}Wq]¨RÕŸ]Ÿ]s.æ

 A) i B) ii C) iii D) iv

 27. CÍ|pORa 48-LUofV \}lV ^ð]yLeV
 i. ^ð]yV I¢. v]. qLo¹ 
 ii. ^ð]yV I. IU. XL¢v]¤¨¡
 iii. ^ð]yV DhpV DSoxV st]fV
 iv. ^ð]yV ScL. c] RRv \NÎ\PcV 
 A) i B) ii C) iii D) iv
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 28. Which among the following statements are not true with regard to the National Rural 
Employment Programme (MNREGA) of Government of Kerala ?

 1. The objective of the programme is to strengthen the livelihood resource base of the 
poor.

 2. Strengthening Panchayati Raj Institutions.

 3. Development and consolidation of the feeling of National unity.

 4. Proactively ensuring social inclusion.

 A) 1 and 3 B) 2 and 4 C) 3 only D) 4 only

 29. Given below are two statements, one labelled as Assertion (A) and other labelled 
as Reason (R). Select your answer from the codes given below :

  Assertion (A) : Kerala Civil Service was formed to build a cadre of public servants 
as a second line of managerial talent for Government for effective implementation 
of Government policies and programmes.

  Reason (R) : There was a shortage of officers in the top and second layer of 
management in government.

 A) Both (A) and (R) are true and (R) is the correct explanation of (A)

 B) Both (A) and (R) are true but (R) is not the correct explanation of (A)

 C) (A) is true but (R) is false

 D) (A) is false but (R) is true

 30. Which among the following is not a core objective of K-Fon ?

 A) Creation a core network infrastructure 

 B) Imparting digital literacy

 C) Reducing digital divide  

 D) Larger connectivity

 31. Following is the list of programmes implemented by the Social Welfare Department 
of Kerala. Find out the programme which is not related to transgender. 

 A) Sakalyam   B) Saphalam 

 C) Sayamprabha Home   D) Varnam

 32. Which among the following statement is not true in the context of Kerala economy ?

 A) The average wage rate in Kerala is higher than that of India

 B) Service sector is one of the mainstays of Kerala’s economic growth

 C) Covid-19 had badly affected the economy

 D) Secondary and tertiary sectors in Kerala economy register growth after Covid-19
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 28. SWqt y¡¨Lq]R£ jLxe¤ rPr¤ IUSkæLpVRo£V SNkLNYLo]Rj (MNREGA) 
yUmÌ]\ÿV  fLRu krpOÐvp]¤ JfLeV wq]psæL¾fV ?

 1. kLvRÕŸvqORa Dk^}vj v]nvSwx] w©]RÕaO¾OWpLeV kq]kLa]pORa sƒ|U.

 2. kµLp¾V qL^V òLkj°Rt w©]RÕaO¾OU.

 3. Shw}p RIW|¾]R£ v]WLq¾]R£ v]WyjvOU JW}WqevOU.

 4. yLoPz]W D¥RÕaO¾¤ oO¢RRWRpaO¨¤ DrÕL¨OÐO.

 A) 1 DU 3 DU B) 2 DU 4 DU C) 3 oLNfU  D) 4 oLNfU

 29. qºV NkñLvjW¥ \OvRa j¤W]p]q]¨OÐO, KÐV  Assertion (A) IÐOU oRãLÐV  
Reason (R) IÐOU Ssm¤ R\pÅ]q]¨OÐO. \OvRa j¤W]p]q]¨OÐ SWLcOWt]¤  
j]ÐV j]°tORa D¾qU f]qR´aO¨OW.  

  Assertion (A) : Yv¦Ro£V jp°tOU kq]kLa]WtOU lsNkhoLp] jaÕ]sL¨OÐf]jLp] 
Yv¦Ro£]R£ oLSj^¡ Wu]vOWtORa qºLU j]qpLp] RkLfOSyvWqORa KqO SWc¡ 
j]¡Ú]¨OÐf]jLp] SWqt y]v]¤ y¡vÿ}yV qPk}Wq]\ÿO.

  Reason (R) : y¡¨Lq]¤ oLSj^VRo£]R£ DÐffs¾]sOU qºLUfs¾]sOU DSh|LY 
òqORa WOrvOºLp]qOÐO.

 A) (A) DU (R) DU wq]pLeV, (R) IÐfV (A) pORa wq]pLp v]wh}WqeoLeV

 B) (A) DU (R) DU wq]pLeV, IÐL¤ (R) (A) pORa wq]pLp v]wh}Wqeosæ

 C) (A) wq]pLeV IÐL¤ (R) RfãLeV

 D) (A) RfãLeV, IÐL¤ (R) wq]pLeV

 30. fLRuÕrpOÐvp]¤ JfLeV K-Fon-R£ NkiLj sƒ|osæL¾fV ?

 A) KqO NkiLj Aa]òLj RjãVv¡¨V yTWq|°¥ yQì]¨OW 

 B) c]^]ã¤ yLƒqf kW¡ÐO j¤WOW

 C) c]^]ã¤ v]n^jU WOràOÐO  

 D) vs]p WeWVã]v]ã]

 31. SWqt¾]Rs yLoPz|Sƒo vWOÕV jaÕ]sL¨OÐ kq]kLa]WtORa kŸ]W fLRu 
RWLaO¨OÐO. NaL¢yVR^¢crOoLp] mÌo]sæL¾ SNkLNYLU WRº¾OW. 

 A) yLWs|U   B) ylsU 

 C) yLpUNkn SzLU   D) v¡eU

 32. SWqt yÒhVv|vòpORa kéL¾s¾]¤ fLRu krpOÐ NkñLvjWt]¤ JfLeV  
wq]psæL¾fV ?

 A) SWqt¾]Rs wqLwq] Svfj j]q¨V CÍ|Sp¨L¥ WPaOfsLeV

 B) SWqt¾]R£ yLÒ¾]W vt¡\ÿpORa oOX|ZaW°t]RsLÐLeV SyvjSoXs

 C) SWLv]cV -19 yÒhVv|vòRp SoLwoLp] mLi]\ÿO

 D) SWqt yÒhVv|vòp]Rs h~]f}p, fQf}p SoXsW¥ SWLv]cV -19 jV SwxU vt¡\ÿ 
SqXRÕaO¾OÐO.
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 33. Which among the following is the oldest university in Kerala ?

 A) Kerala Agricultural University 

 B) Kannur University

 C) Mahatma Gandhi University 

 D) Sree Sankaracharya University of Sanskrit

 34. Plasma clearance is defined as the amount of plasma that is cleared of a substance 

in given unit time and can be calculated by the formula C = 
UV

P
. Find out the GFR 

from the following if,

Concentration of inulin in urine = 125 mg/dL

Concentration of inulin in plasma = 1 mg/dL

Volume of urine output = 1 mL/min

 A) 1 mL/min   B) 125 mL/min 

 C) 0.008 mL/min   D) 180 mL/min

 35. Which of the following statement is/are correct about somatostatin ?

 i. Inhibits the secretion of GH and TSH from anterior pituitary.

 ii. Inhibits gastric secretion and motility.

 iii. Inhibits secretion of pancreatic juice.

 iv. Inhibits secretion of GIP.

  Choose the correct answer from the option given below.

 A) All of the above i, ii, iii and iv B) Only i, ii and iii

 C) Only i, iii and iv D) Only ii and iii 

 36. Match List – I with List – II :

  List – I  List – II

 a. Leishmania tropica minor i. Kala-azar

 b. Leishmania donovani ii. Wet sore

 c. Leishmania brasiliensis iii. Oriental sore

 d. Leishmania tropica major iv. Nasal leishmaniasis

  Choose the correct answer from the option given below.

 A) a – ii, b – iii, c – iv, d – i B) a – iv, b – iii, c – i, d – ii

 C) a – iii, b – i, c – iv, d – ii D) a – iii, b – iv, c – ii, d – i
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 33. fLRuÕrpOÐvp]¤ SWqt¾]Rs JãvOU ku¨U R\Ð y¡vÿWsLwLs JfLeV ?

 A) SWqt ANY]W¥\ÿr¤ pPe]SvuVy]ã] 

 B) W¹P¡ pPe]SvuVy]ã]

 C) ozLÄLYLÌ] pPe]SvuVy]ã] 

 D) è} wËqL\Lq| yUØQf y¡vÿWsLwLs

 34. kæLyÜ Wæ]pr¢yV IÐfV KqO j]é]f pPe]ãV yop¾V KqO khL¡À¾]¤ j]ÐV j}¨U  

R\áRÕaOÐ kæLyÜpORa AtvLeV. WPaLRf C = 
UV

P
SlL¡oOs DkSpLY]\ÿV We¨L¨LU. 

fLRuÕrpOÐvp]¤ j]ÐV GFR WRº¾OW. 

oPNf¾]¤ CjOs]¢ yLNÎf = 125 mg/dL

kæLyÜp]Rs CjOs]¢ yLNÎf = 1 mg/dL

oPNf¾]R£ AtvV = 1 mL/min

 A) 1 mL/min   B) 125 mL/min 

 C) 0.008 mL/min   D) 180 mL/min

 35. SyLoLSãLðLã]¢ yUmÌ]\ÿV Cj]ÕrpOÐ NkñLvjWt]¤ JfLeV wq] ?

 i. B£}q]p¡ k]ã|PŸr] NYÏ]p]¤ j]ÐV GH, TSH IÐ]vpORa NyveU fapOÐO.

 ii. BoLwp NyvR¾pOU \sjR¾pOU fapOÐO.

 iii. kL¢NW]pLã]WV ^|PyV Nyv]¨OÐf]Rj fapOÐO.

 iv. GIP pORa NyveU fapOÐO.

  \OvRa j¤W]p]q]¨OÐ KLkVxj]¤ j]ÐV wq]pLp D¾qU f]qR´aO¨OW.

 A) oOWt]¤ kr´vRpsæLU (i, ii, iii, iv) B) i DU ii DU iii DU oLNfU

 C) i DU iii DU iv DU oLNfU D) ii DU iii DU oLNfU 

 36. s]ðV – I oLp] s]ðV – II S\qOka] S\¡¨OW.

  s]ðV – I  s]ðV – II

 a. s}xVoLj]p SNaLÕ]¨ RRoj¡ i. WLsL&Ay¡

 b. s}xVoLj]p ScLSjLvLj] ii. jj´ NveU

 c. s}xVoLj]p Nmy}s]p¢y]yV iii. KLr]p£¤ NveU

 d. s}xVoLj]p SNaLÕ]¨ So^¡ iv. jLy¤ s}xVoLj]pLy]yV

  \OvRa j¤W]p]q]¨OÐ KLkVxj]¤ j]ÐV wq]pLp D¾qU f]qR´aO¨OW.

 A) a – ii, b – iii, c – iv, d – i B) a – iv, b – iii, c – i, d – ii

 C) a – iii, b – i, c – iv, d – ii D) a – iii, b – iv, c – ii, d – i
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 37. Histones is/are shows positive charge because of the abundance of 
 i. Lysine, aspartate and glutamate
 ii. Lysine and arginine
 iii. Aspartate and glutamate
 iv. Arginine and aspartate
  Choose the correct answer from the option given below.
 A) Only ii and iii   B) Only ii
 C) Only iv   D) Only i

 38. Match List – I with List – II :
  List – I  List – II
 a. Hydrodamalis gigas i. Mauritius
 b. Raphus cuculla ii. Australia
 c. Thylacinus cynocephalus iii. Africa
 d. Equus quagga quagga iv. Russia
  Choose the correct answer from the option given below.
 A) a – ii, b – iii, c – iv, d – i B) a – iii, b – iv, c – i, d – ii
 C) a – iii, b – iv, c – ii, d – i D) a – iv, b – i, c – ii, d – iii

 39. A particle p
1
 of mass m

1
, starting from rest at the point P moves down a frictionless 

straight inclined path PQ at 45° to the horizontal under gravity to reach the point Q 
on the ground. Another particle p

2
 of mass m

2
 < m

1
 is dropped from P to vertically 

fall to the point R on the ground. Then which of the following are true ?

 i. p
1
 and p

2
 will touch the ground with equal speeds.

 ii. p
1
 and p

2
 will touch the ground simultaneously.

 iii. Ratio of the time taken by p
1
 to the time taken by p

2
 to touch the ground is 2 .

 iv. p
1
 and p

2
 will touch the ground with speeds whose ratio is 1/ 2 .

 A) i and ii   B) i and iii 

 C) ii and iv   D) iii and iv

 40. A concave mirror of focal length f and radius of curvature R is cut into halves by a 
plane containing the principal axis. Then which of the following are false ?

 i. Radius of curvature changes to R/2.

 ii. Focal length changes to f/2.

 iii. Focal length changes to 2f.

 iv. Radius of curvature changes to 2R while focal length remains the same.

 A) Only i and ii   B) Only iii

 C) Only iv   D) All the four i, ii, iii and iv
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 37. z]SðL¦yV SkLy]ã}vV \L¡^V WLe]¨OÐO, WLqeU iLqLtoLp]  
 i. RRsy]¢, AyVkL¡SŸãV, YæPŸLSoãV
 ii. RRsy]¢, A¡^]RRj¢
 iii. AyVkL¡SŸãV, YæPŸLSoãV
 iv. A¡^]RRj¢, AyVkL¡SŸãV

  \OvRa j¤W]p]q]¨OÐ KLkVxj]¤ j]ÐV wq]pLp D¾qU f]qR´aO¨OW.
 A) ii DU iii DU oLNfU B) ii oLNfU C) iv oLNfU D) i oLNfU

 38. s]ðV – I oLp] s]ðV – II S\qOka] S\¡¨OW.
  s]ðV – I  s]ðV – II

 a. RRzSNcLcoLs]yV Y]YLyV i. oTr}x|yV
 b. rLlyV WO¨Osæ ii. KLSNy›s]p
 c. RRfsLy]jyV RRySjLRylLsyV iii. BNl]¨
 d. CW~yV W~L« W~L« iv. rx|
  \OvRa j¤W]p]q]¨OÐ KLkVxj]¤ j]ÐV wq]pLp D¾qU f]qR´aO¨OW.
 A) a – ii, b – iii, c – iv, d – i B) a – iii, b – iv, c – i, d – ii
 C) a – iii, b – iv, c – ii, d – i D) a – iv, b – i, c – ii, d – iii

 39. m
1 

k]¼¾]R£ KqO We]W p
1
, P IÐ m]ÎOv]¤ j]ésLvòp]¤ j]ÐV BqUn]\ÿV, 

Z¡xeqz]foLp SjqLp \q]´ kLfp]sPRa PQ 45° p]¤ NYLv]ã]¨V W}u]¤ f]qé}
joLp] j}°] j]sR¾ Q SkLp]£]Rs¾OÐO. m

2
 < m

1 
k]¼¾]R£ oRãLqO We]W p

2 
p]¤ 

P j]ÐV sUmoLp] j]s¾V R IÐ m]ÎOv]Ss V̈ v}uOÐO. ASÕL¥ fLRuÕrpOÐvp]¤ 
JfLeV wq] ? 

 i. p
1
 and p

2
  fOs| SvYfp]¤ j]sU RfLaOU

 ii. p
1
 and p

2
  KSqyopU j]s¾O RfLaOU.

 iii. p
1
  IaO¾ yopvOU p

2
 j]sU RfLaL¢ IaO¨OÐ yopvOU fÚ]sOç AjOkLfU 

2 BeV.

 iv. p
1
, p

2
 IÐ]v 1/ 2  IÐ AjOkLf¾]sOç SvYfp]¤ nPo]Rp y×¡w]¨OU.

 A) i DU ii DU B) i DU iii DU C) ii DU iv DU D) iii DU iv DU

 40. SlL¨¤ Rs‚VfV f DU vNWf R R£ BqvOU Dç KqO SWL¦SWvV o]r¡ NkiLj A\ÿOfºV 
Aa°]p KqO fsU DkSpLY]\ÿV kWOf]pLp] oOr]¨OÐO. ASÕL¥ fLRu krpOÐvp]¤ 
JfLeV RfãV ? 

 i. vNWfpORa BqU R/2 Bp] oLrOÐO. 
 ii. SlL¨¤ Rs‚VfV f/2 Bp] oLrOÐO.
 iii. SlL¨¤ Rs‚VfV 2f Bp] oLrOÐO.
 iv. vNWfpORa BqU 2R Bp] oLrOÐO, ASfyopU SlL¨¤ Rs‚VfV ASfka] fOaqOÐO. 
 A) i DU ii DU oLNfU   B) iii oLNfU
 C) iv oLNfU   D) i, ii, iii, iv IÐ} jLsOU
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 41. A sphere of radius r of material of density � is fully immersed in a liquid of density �. 
The loss of weight of the sphere would be (acceleration due to gravity is g)

 A) (4/3)�r3�g   B) (4/3)�r3�g

 C) 0   D) None of the above
 42. Which of the following are true ?

 i. ISRO’s Chandrayaan-2 is a mission with the goal of exploring Moon.

 ii. Chandrayaan-2 is India’s first successful mission to explore Moon.

 iii. ISRO’s GSLV-F10/EOS-03 launched on Aug. 12, 2021 was an unsuccessful 
mission.

 iv. GSAT-3 is India’s first dedicated educational satellite to provide with two way 
communication for delivering educational material.

 A) i, iii and iv   B) i, ii and iv

 C) ii and iii   D) i, ii, iii and iv

 43. Suppose we have 18.3 litre oxygen gas containing 0.75 moles at 1 atmospheric 
pressure and 25°C. If all this oxygen were converted to ozone at the same 
temperature and pressure, what would be the volume of ozone formed in litres ?

 A) 18.3 L B) 9.15 L C) 12.2 L D) 27.45 L

 44. Calculate the vapour pressure of the resulting solution prepared by mixing 0.5 moles 
of sucrose with 19.5 moles of water at 50°C. (Vapour pressure of pure water at 50°C 
is 40 torr)

 A) 36 torr B) 37 torr C) 38 torr D) 39 torr

 45. What is the resulting H+ ion concentration obtained by mixing 50 ml 0.2 M HNO
3
 

with 10 ml 0.1 M NaOH ?

 A) 0.14 M B) 0.15 M C) 0.16 M D) 0.17 M

 46. Which group of the modern periodic table does the synthetic element Oganesson (Og) 
belongs ?

 A) 15 B) 16 C) 17 D) 18

 47. Which caste performs ‘Thirayattam’ ?

 A) Nair B) Chakkiyar C) Kurichiyar D) Perumannan

 48. ‘Libero’ is a word associated with which game ? 

 A) Football B) Hockey C) Volleyball D) Cricket

 49. What is the real name of the author ‘Parappurath’ ?

 A) K. E. Mathai   B) E. M. Kovoor

 C) P. C. Gopalan   D) K. J. Baby
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 41. r IÐ BqoOç KqO SYLtU ��yLNÎfpOç KqO khL¡ÀU RWLºLeV j]¡Ú]\ÿ]q]¨OÐfV, AfV 
yLNÎf ���IÐ NhLvW¾]¤ kP¡¹oLp] oO°]p]q]¨OÐO. SYLt¾]R£ nLqU WOrpOÐfV  
(YOqOf~LW¡xeU oPsoOç f~qeU g BeV )

 A) (4/3)�r3�g   B) (4/3)�r3�g

 C) 0   D) oOWt]¤ RWLaO¾]q]¨OÐf]¤ KÐOosæ
 42. fLRuÕrpOÐvp]¤ JfLeV wq] ? 
 i. \NÎRj kq|SvƒeU R\áOW IÐ sƒ|S¾LRapOç hTf|oLeV  ISRO pORa  

\NÎpL¢-2.
 ii. \NÎRj kq|SvƒeU R\áLjOç CÍ|pORa Bh|R¾ v]^pWqoLp hTf|oLeV  

\NÎpL¢-2.
 iii. 2021 KLYðV 12&jV v]Sƒk]\ÿ ISRO pORa GSLV-F10/EOS-03, KqO kqL^p 

hTf|oLp]qOÐO.
 iv. v]h|Ln|Ly yLoNY]W¥ I¾]¨OÐf]jV h~]oOX Bwpv]j]opU j¤WOÐ CÍ|pORa 

Bh| yo¡Õ]f v]h|Ln|Ly DkNYzoLeV GSAT-3.

 A) i DU iii DU iv DU B) i DU ii DU iv DU C) ii DU iii DU D) i, ii, iii DU iv DU

 43. AÍq}ƒo¡Ç¾]sOU 25 c]NY] Ry¤x|y]sOU 0.75 SoLtOW¥ Aa°]p 18.3 s]ã¡ 
KLWõ]^¢ vLfWU joO¨ORºÐV WqOfOW. IsæL KLWõ]^jOU KSq fLkj]sp]sOU o¡Ç¾]sOU 
KLSyLeLp] kq]v¡¾jU R\pÅL¤, s]ãr]¤ qPkRÕaOÐ KLSyLe]R£ AtvV INfpLp]
q]¨OU ? 

 A) 18.3 L B) 9.15 L C) 12.2 L D) 27.45 L

 44. 50 c]NY] Ry¤x|y]¤, 0.5 SoL¥ yOSNWLyV 19.5 SoL¥ Rvtt¾]¤ Ws¡¾] fáLrL¨]
p sLpj]pORa j}qLv] o¡ÇU We¨L¨OW  (50 c]NY] Ry¤x|y]¤ wOÈ ^s¾]R£ 
j}qLv] o¡ÇU 40 SaLrLeV ).

 A) 36 torr B) 37 torr C) 38 torr D) 39 torr

 45. 0.2 M HNO
3 

pORa 50 ml Rj 10 ml 0.1 M NaOH oLp] Ws¡¾OÐf]sPRa sn]¨OÐ 
H+ASpL¦ yLNÎf IÍLeV  ?  

 A) 0.14 M B) 0.15 M C) 0.16 M D) 0.17 M

 46. BiOj]W Bv¡¾jÕŸ]Wp]Rs JfV NYPÕ]sLeV y]Íã]WV oPsWU KYRjy¦ (Og) 
D¥RÕaOÐfV ?  

 A) 15 B) 16 C) 17 D) 18

 47. JfV ^Lf]¨LqLeV  ‘f]qpLŸU’ ja¾OÐfV ?

 A) jLp¡ B) \L¨]pL¡ C) WOr]\|¡ D) RkqOo¹¢

 48. ‘s]mSrL’ IÐfV JfV RYp]oOoLp] mÌRÕŸ khoLeV ? 

 A) lOaVSmL¥ B) SzL¨] C) SvLt]SmL¥ D) NW]¨ãV

 49. ‘kLrÕOr¾V ’ IÐ IuO¾OWLqR£ pgL¡À SkqV IÍLeV ? 

 A) RW. C. o¾Lp] B) C. IU. SWLvP¡ C) k]. y]. SYLkLs¢ D) RW. R^. Smm]
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 50. Bhanumathi and Madhanan are characters in which Malayalam poem ?

 A) Leela   B) Vazhakkula 

 C) Dhuravastha   D) Ramanan

 51. Evaluate 
�� � �� �

�� �� �

�

�

2 4

2

6 7

2 5 .

 A) 230 B) 2–18 C) – 22 D) None of these

 52. The average of 10 observations was found to be 20. Later on, it was detected that 
12 was misread as 21. The correct average is

 A) 33.3 B) 19.1 C) 20.9 D) 22.2

 53. 80% of employees in an office are females and the total number of male employees 
is 25. The number of female employees is

 A) 100 B) 125 C) 115 D) 90

 54. A man on tour travels first 160 km at 64 km/hr and the next 160 km at 80 km/hr.  
The average speed for the first 320 km of tour is

 A) 36.55 km/hr   B) 36 km/hr
 C) 71.11 km/hr   D) 72 km/hr

 55. If a : b : : c : d, then which among the following is true ?

 A) ac = bd B) ab = cd C) ad = bc D) none of these 

 56. The calendar for the year 2022 will be the same for the year 

 A) 2030 B) 2031 C) 2032 D) 2033

 57. Identify the odd one out in the given options.

 A) 101 B) 103 C) 105 D) 107

 58. Find the angle between the two hands of clock at 4 : 10.

 A) 61° B) 68° C) 55° D) 65°

 59. 2, 12, 36, 80, _____, 252.

 A) 150 B) 110 C) 125 D) 168

 60. If CHAIR is written as 34567 and RENT is written as 7128, then REAR is written as

 A) 7157 B) 7137 C) 1731 D) 1751



 120/22 – M

A -23- 

 50. nLjOof]pOU ohjjOoLeV ______ ospLt Wv]fp]Rs WgLkLNf°¥. 

 A) s}s   B) vLu¨Os 

 C) hOqvò   D) qoe¢

 51.  
�� � �� �

�� �� �

�

�

2 4

2

6 7

2 5 v]sp]qO¾OW.

 A) 230 B) 2–18 C) – 22 D) CvRpLÐOosæ

 52. 10 j]q}ƒe°tORa wqLwq] 20 BReÐV WRº¾]. 12 IÐfV 21 IÐV RfãLp] 
vLp]\ÿfLp] k]Ð}aV WRº¾]. wq]pLp wqLwq]SpfV ?

 A) 33.3 B) 19.1 C) 20.9 D) 22.2

 53. KqO KLl}y]Rs 80% ^}vj¨LqOU Nñ}WtLeV, BRW kOqOx ^}vj¨LqORa I¹U 25 
BeV. Nñ} ^}vj¨LqORa I¹U 

 A) 100 B) 125 C) 115 D) 90

 54.  kq|aj¾]s]q]¨OÐ KqL¥ oe]¨Pr]¤ 64 W]SsLo}ã¡ SvYfp]¤ 160 W]SsLo}ã¡ 
yµq]¨OÐO. AaO¾ 160 W]. o}. oe]¨Pr]¤ 80 W]. o}. yµq]¨OÐO. IË]¤ Bh| 
320 W]SsLo}ã¡  aPr]R£ wqLwq] SvYf INf ?

 A) 36.55 km/hr B) 36 km/hr C) 71.11 km/hr D) 72 km/hr

 55. a : b : : c : d, IË]¤ fLRu krpOÐvp]¤ JfLeV wq]? 

 A) ac = bd B) ab = cd C) ad = bc D) CvRpLÐOosæ 

 56. 2022&Rs Wsº¡ _____ v¡x¾]jV yoLjoLp]q]¨OU. 

 A) 2030 B) 2031 C) 2032 D) 2033

 57. j¤W]p]q]¨OÐ KLkVxj]Rs KãpLRj f]q]\ÿr]pOW.

 A) 101 B) 103 C) 105 D) 107

 58. 4 : 10&¤ SWæL¨]R£ qºV RRWW¥¨]ap]sOç SWL¦ WRº¾OW.

 A) 61° B) 68° C) 55° D) 65°

 59. 2, 12, 36, 80, _____, 252.

 A) 150 B) 110 C) 125 D) 168

 60. CHAIR 34567 IÐOU RENT IÐfV 7128 IÐOU IuOf]pL¤, REAR  _____ IÐV 
IuOfOÐO. 

 A) 7157 B) 7137 C) 1731 D) 1751
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 61. ASCII code for alphabet A is

 A) 10   B) 65 

 C) 97   D) None of these

 62. SDRAM refers to

 A) Synchronous DRAM  

 B) Static DRAM

 C) Semi DRAM 

 D) Second DRAM

 63. Decimal equivalent of hexadecimal 61h

 A) 20 B) 33 C) 61 D) 97

 64. Which is the internet protocol used in the URL https://www.mycollege.org/index.php ?

 A) www   B) https

 C) org   D) index

 65. Program that combines one or more object files and generate a single executable file

 A) Compiler   B) Debugger

 C) Interpreter   D) Linker

 66. Which of the following memory is non-volatile ? 

 A) DRAM   B) ROM 

 C) SRAM   D) None of these

 67. What is the value of sum after the execution of the following code ?

  int sum = 0;

  for(int i = 1; i < = 5; i + +)

  {

      if(i % 2 = = 0) continue;

      sum += i;

  }

 A) 1 B) 6 C) 9 D) 15

 68. Protocol used to send mail

 A) FTP   B) HTTP

 C) SMTP   D) WWW
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 69. Agency which assigns IP addresses

 A) ANSI   B) ICANN

 C) IEEE   D) IMAP

 70. Keyboard shortcuts used for find and replace functions

 A) Ctrl+F, Ctrl+H 

 B) Ctrl+F, Ctrl+R

 C) Ctrl+C, Ctrl+V 

 D) Ctrl+S, Ctrl+X

 71. Which operator is used to concatenate contents of two cells in excel ?

 A) Plus (+)   B) Hash(#)

 C) Dot(.)   D) Ampersand(&)

 72. The basic unit of a worksheet into which you enter data in excel is called a 

 A) Tab   B) Cell 

 C) Box   D) Range 

 73. Keyboard shortcut to start slide show in PowerPoint

 A) Ctrl + R   B) Ctrl + S

 C) F5   D) F6

 74. In Visual Basic, which of the following keyword tells the computer to pass the variable’s 

address rather than its contents ?

 A) ByAdd   B) ByPoint

 C) ByRef   D) ByVal 

 75. Function overloading is an example of  

 A) Abstraction   B) Encapsulation 

 C) Inheritance   D) Polymorphism 

 76. Which of the following is not a type of inheritance in C++ ?

 A) Multiple   B) Multilevel

 C) Distributed   D) Hierarchical
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 77. Which of the following instruction tells the computer to close the current form in 

Visual Basic ?

 A) This.Close( )

 B) Me.Close( ) 

 C) Close.this( )

 D) Close( )

 78. The key that represents relationship between database tables 

 A) Foreign Key

 B) Super Key 

 C) Candidate Key

 D) Primary Key 

 79. In SQL, the insert, delete and update commands come under 

 A) TCL (Transaction Control Language)

 B) DCL (Data Control Language)

 C) DDL (Data Definition Language)

 D) DML (Data Manipulation Language) 

 80. How do we write a comment in JavaScript ? 

 A) /* comment */   B) // comment 

 C) #comment   D) ;comment 

 81. Choose the correctly spelt word from the following.

 A) Guage   B) Momento

 C) Pronounciation   D) Righteous

 82. She is relieved __________ her duty.

 A) from B) of C) off D) in

 83. Choose the odd one out.

 A) idle   B) indolent 

 C) ideal   D) lethargic
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 84. Choose the correct sentence. 

 A) Everyone of the girls love to have gifts

 B) Thirty thousand dollars is a huge amount 

 C) Ideal

 D) Lethargic

 85. Choose the correct one. 

 A) loaf-loafs   B) sheep-sheep

 C) louse-louses   D) echo-echo

 86. The more you try, the _______ it is.

 A) good   B) better

 C) best   D) worst

 87. I am wrong in this case, _______

 A) am I ?   B) amn’t I ?

 C) are I ?   D) aren’t I ?

 88. Their _______ is different and the best in this field.

 A) nota bene   B) ad infinitum

 C) bona fide   D) modus operandi

 89. Dr. Salim Ali was a naturalist and an expert on birds. Find a one word substitute for 

the underlined set of words.

 A) ornithologist   

 B) ophthalmologist

 C) orthodontist   

 D) philanthropist

 90. When the police _______, the thief had already left.

 A) come   B) came

 C) was coming   D) has come
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 91. RjÓe] – wq]pLp] k]q]RˆuOfOÐfV I°Rj ?

 A) Rj¢ + oe]   

 B) Rj¤ + oe] 

 C) RjÓ + Ae]   

 D) RjŠV + oe]

 92. Wv] IÐ kh¾]R£ If]¡s]UYSofV ?  

 A) Wvp]Nf]   

 B) Wv]p]Nf] 

 C) Wv]pNf]   

 D) WvpNf]

 93. "pLgL¡À|U AvYe] V̂ Nkv¡¾]¨OW' – IÐ¡ÀU vqOÐ RRws] JfV ?  

 A) Ws¨Rvç¾]¤ o}¢ k]a]¨OW 

 B) RWL¾OU SWLtOU K¨OW 

 C) W¹aˆV CqOŸL¨OW   

 D) KuO¨¾V vLsLŸOW

 94. wOÈoLp vLW|U RfqR´aO¨OW.   

 A) oÃqv]^p]W¥¨V oOÚPÐV kOñWU v}fU RWLaO¾O   

 B) oÃqv]^p]W¥¨V oPÐV kOñWU RWLaO¾O

 C) oÃqv]^p]W¥¨V oPÐV kOñW°¥ RWLaO¾O   

 D) oÃqv]^p]W¥¨V oPÐV kOñW°¥ v}fU RWLaO¾O

 95. WLŸOojOx|¢ IÐfV fLRuR¨LaO¾]q]¨OÐf]¤ Jf]R£ KãÕhoLeV ?

 A) WLŸ]¤ ^}v]¨OÐ ojOx|¢ 

 B) WLaORWLºV Dk^}vjU Wu]¨OÐ ojOx|¢ 

 C) WLŸ]¤ j]ÐV vqOÐ ojOx|¢   

 D) WLŸ]¤ ^j]ˆO vt¡Ð ojOx|¢
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 96. Wa¤ IÐ¡ÀU vqOÐ oRãLqO khU JfV ?

 A) A¡evU   B) wL¡ÇPsU 

 C) vL^]   D) AwÜU

 97. fLRuR¨LaO¾]q]¨OÐvp]¤ wq]pLp khU RfqR´aO¨OW.

 A) Añ]WPaU   

 B) Aò]WPaU 

 C) Aò]¨PaU   

 D) Añ]¨PaU

 98. "NkwLÍU' – IÐ kh¾]R£ v]kq}fkhU JfV ?

 A) j]wLÍU   B) NkShLxU 

 C) NkƒOmViU   D) j]¡ShLxU

 99. "RWLaO¾O + CŠ' – S\¡R¾uOf]pf]¤ wq]SpfV ?

 A) RWLaO¾OCŠ   

 B) RWLaO¾]Š 

 C) RWLaO¾f]Š   

 D) RWLaO¾}s

 100. ‘Many a pickle (little) makes a mickle’ Cf]jV yoLjoLp kuRµLSŠfV ?

 A) Ai]WoLpL¤ AoQfOU v]xU 

 B) AˆL¡ WPa]pL¤ yh| SWoU 

 C) ksfOç] RkqORvçU  

 D) DSÕLtU vqOSoL DÕ]s]ŸfV
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Space for Rough Work
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Space for Rough Work
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S\Lh|°tORa BRW I¹U : 100 yopU : 90 o]j]ŸV 

  kqoLvi] oL¡¨V  : 100

AS\Lh|kOñW
AƒqSWLcV
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W
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o
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Ò
¡

          DSh|LYL¡À]W¥¨Oç j]¡SÇw°¥

 1. S\Lh|  WasLôV j¤WOÐfV S\Lh| kOñW qPk¾]sLeV. A, B, C, D IÐ} jLsV Aƒq SWLcOWt]
sOç S\Lh| kOñW°tLeV j¤WOÐfV.

 2. S\Lh| kOñW¾]R£ oOWt]¤ CafV vw¾V NkSf|W SWLt¾]¤ S\Lh|kOñW Aƒq SWLcV Aˆa]̂ ]ŸOºV.

 3. KLSqL DSh|LYL¡À]¨OU j¤W]p]ŸOç S\Lh|kOñW Aƒq SWLcV AvqORa kq}ƒL zLt]Rs Cq]Õ]
a¾]¤ SqXRÕaO¾]p]q]¨OU.

 4. j]°¥¨jOvh]ˆ]q]¨OÐ Aƒq SWLc]¤ j]ÐOU v|f|ñoLp SWLc]sOç S\Lh|kOñWoLeV 
sn]¨OÐRfË]¤ AfV Daja] C¢v]^]SsãrORa èÈp]¤RÕaOS¾ºfLeV.

 5. S\Lh|kOñW NWojÒ¡ kOrU \ŸpORa vsfOvw¾V oOWtã¾Lp] S\¡¾]ŸOºV. NWojÒ¡ CŠL¾  
S\Lh|kOñWoLeV j]°¥¨V sn]¨OÐRfË]¤ ASf Aƒq SWLc]sOç S\Lh|kOñWU oLã] 
vL°OW.

 6. S\Lh| kOñWU vsfO oL¡^]j]¤ oÈ|nLY¾Lp] y}¤ R\pÅ]q]¨OU. D¾qRouOfLjOç AjOof]   
sn]ˆLsŠLRf S\Lh| kOñWU fOr¨L¢ kLa]Š.

 7. kq}ƒ fOa°]pLsOa¢ DSh|LYL¡À] fj]¨V sn]ˆ]q]¨OÐ S\Lh| kOñW¾]¤ 100  S\Lh|°tOU 
NWooLp] DSºL IÐV kq]SwLi]S¨ºfLeV. S\Lh| kOñW¾]¤ Aˆa]¨L¾SfL, W}r]pSfL,  
v]ŸOSkLpSfL Bp Sk^OW¥ DºLW]Š; AgvL DRºË]¤ A¨Lq|U C¢v]^]SsãrORa èÈp]¤ 
RWLºOvq]WpOU ASf Aƒq SWLc]sOç kP¡¹oLp S\Lh| kOñWU oLã] vL°OWpOU  
R\SáºfLeV. CfV JãvOU NkiLjRÕŸfLeV.

 8. CT S\Lh|SkÕr]Rs 1 oOf¤ 60 vRqpOç S\Lh|°¥ CUYæ}x]sOU KTSh|LY]W nLxp]sOU (ospLtU) 
Bp] A\ÿa]\ÿ]q]¨OÐO. CT S\Lh|°tORa A¡ÀU, f¡²o IÐ]v yUmÌ]\ÿ yUwp°¥ V̈ CUYæ}xV 
oLi|o¾]sOç S\Lh|°tLeV BiLqoL¨OÐfV.

 9. S\Lh| kOñW¾]R£ AvyLj Sk^]jO RfLŸOoO¢kV KÐOU IuOfL¾ qºV Sk^OW¥ S\¡¾]ŸOºV. 
CfV D¾qU WºOk]a]¨OÐf]jOç  WOr]ÕOW¥¨Lp] DkSpLY]¨LvOÐfLeV.

 10. D¾q°¥ SqXRÕaO¾L¢ BqUn]¨OÐf]jV oOÒV D¾q¨asLy]R£ orOkOr¾Oç j]¡SÇw°¥ 
èÈLkP¡‹U vLp]¨OW.

 11. wq]pO¾qU D¥RÕRa KLSqL S\Lh|¾]jOU (A), (B), (C), (D) IÐ jLsV D¾q°¥ fÐ]q]¨OU. wq]
pO¾qU RfqR´aO¾V K. IU. B¡. D¾q¨asLy]¤ mÌRÕŸ S\Lh| jÒr]jV SjRqpOç wq]
pO¾qU yP\]Õ]¨OÐ WOo]t (mm]¥) oLNfU j}sSpL WrOSÕL mL¥ SkLp]£V Skj DkSpLY]ˆV 
WrOÕ]¨OW.

 12. KLSqL wq]pO¾q¾]jOU KqO oL¡¨V sn]¨OWpOU KLSqL RfãO¾q¾]jOU 1/3 oL¡¨V jìoLvOWpOU 
R\áOU. D¾qU SqXRÕaO¾L¾ S\Lh|°¥¨V oL¡¨V jìoLvOWp]Š.

 13. kq}ƒL yopU Wu]pOÐf]jV oOSÒL, D¾q¨asLyV C¢v]^]SsãRr J¤Õ]¨LRfSpL KqO DSh|LYL¡À]pOU 
kq}ƒLzL¥ v]ŸV kOr¾OSkLWL¢ kLa]Š.

 14. j]¡SÇw°¥ W¡wjoLp] kLs]S¨ºfLeV. kq}ƒp]¤ NWoS¨aV ja¾OWSpL Af]jOç èoU 
ja¾OWSpL R\áOÐ DSh|LYL¡À]WRt ASpLY|qLp] NkX|Lk]¨OÐfLeV.
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